
INSTRUCTION MANUEL ENCLOSED

 SEATING 4PC

 SEATING 4PC ASSEMBLY INSTRUCTION



PARTS LIST
Part QuantityDescription

Left arm 3A

Right arm 3B

Chair backrest 2C

Chair seat base 2D

Table leg 2E

Table side panel 1F

Glass table top 1G

Chair side panel 2L

Chair cushion 2M

Pillow 4O

Bench backrest 1Q

Bench seat base 1S

Bolt M6x70 mm 121

Bolt M6x25 mm 382

Washer Ø6x14x1 mm 503

Plastic leg 48x48x65 mm 165

PARTS

HARDWARE

Bolt M6x55 mm 164

Bench cushion 1Z

Bench side panel 1U

Allen key 4x60 mm 36



A

x3

B

x3

C

x2

D

x2
E

x2

F

x1

G

x1

L

x2
M

x2

O

x4

Q

x1

S

x1
U

x1

Z

x1

1

x12

2

x38
3

x50

4

x16

5

x16

Alenkey 4 x 60Ø6 x 14 mm

6

x3

M6x70 mm M6x25 mm

M6x55 mm



1 3

1
3

1

1

3

3

A

B

C

1

2

x2

A

B

C

2

3

3

3

3

2

2

D

x2

1. Locate each Left arm (A) and Right arm (B) to the Chair backrest (C) by the pre-drilled threads.
Use Allen Key (6) to fasten Bolts (1) with Washers (3).
Each arm should have 2 bolts fastened. Only fixed bolts 50% (Photo 1).

2. Locate Chair seat base (D) to the Chair backrest (C) and Left arm (A), Right arm( B) by the
pre-drilled threads.
Use Allen Key (6) to fasten Bolts (2) with Washers (3).
Should have 4 bolts fastened. Only fixed bolts 50% (Photo 2).



3

4

23
3

3 3

B

A

L

C

D

x2

x2
2

2

3
3

B

A

L

C

D

4 Locate Chair side panel (L) to Chair seat base (D), by the pre-drilled threads..
Use Allen Key (6) to fasten Bolts (2) with Washers (3). Should have 2 bolts fastened.
Only fixed bolts 50% (Photo 4).

3. Locate Chair side panel (L) to Left arm (A) and Right arm (B), by the pre-drilled threads.
Use Allen Key (6) to fasten Bolts (2) with Washers (3). Should have 4 bolts fastened.
Only fixed bolts 50% (Photo 3).



5

6

4

4

4

4

5

5

5

5

A

B

x2

x2

6. Fixed all bolts 100% (Photo 6).

5. Use Allen Key (6) to fasten Bolts (4) with Plastic leg (5). Should have 4 bolts fastened.
Fixed bolts 100% (Photo 5).



7

8

M

O

x2

A

1

1

1

1

3

3

3

3

B

Q

8 Locate each Left arm (A) and Right arm (B) to the Bench backrest (Q) by the pre-drilled threads..
Use Allen Key (6) to fasten Bolts (1) with Washers (3). Each arm should have 2 bolts fastened.
Only fixed bolts 50% (Photo 8).

7. Place Chair cushion (M) on the top chair first, and then place Pillow (O) above it (Photo 7).



9

10

2

2 2

2

3

3 3

3

AB

S

Q

Q

S

A B

U2

2

2 2

2

2

3 3

3

33

3

10 Locate Bench side panel (U) to Left arm (A), Right arm (B) and Bench seat base (S).
by the pre-drilled threads.
Use Allen Key (6) to fasten Bolts (2) with Washers (3). Should have 6 bolts fastened.
Only fixed bolts 50% (Photo 10).

9 Locate Bench seat base (S) to the Bench backrest (Q) and Left arm (A), Right arm (B).
by the pre-drilled threads.
Use Allen Key (6) to fasten Bolts (2) with Washers (3). Should have 4 bolts fastened.
Only fixed bolts 50% (Photo 9).



11

12

4

5

4 4

4

5 5

5

AB

12 Fixed all bolts 100% (Photo 12)..

11 Use Allen Key (6) to fasten Bolts (4) with Plastic leg (5). Should have 4 bolts fastened..
Fixed bolts 100% (Photo 11).



13

14

Z

O
O

2

2

2

22

2

2

2

3

3

3

3 3

3

3

3

E E

F

14 Locate Table leg (E) to the Table side panel (F) by the pre-drilled threads.. 
      Use Allen Key (6) to fasten Bolts (2) with Washers (3). Each table foot should have 4 bolts fastened.
      Only fixed bolts 50% (Photo 14).

13 Place Bench cushion (Z) on the top bench first, and then place 2 Pillow (O) above it (Photo 13).. 



15

16

Till now you have finished the whole assembly and enjoy your furniture!

4

5

4

4
4

5

5

5

E

E
F

G

G

16 Place Glass on the top table (Photo 16)..

15 Use Allen Key (6) to fasten Bolts (4) with Plastic leg (5). Each table leg should have 2 bolts fastened..
Fixed bolts 100% (Photo 15).


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12



